

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date: May 6, 2025

Due Date: Upon Receipt

06/24/2025 08:00 AM | Load In Day 1 06/25/2025 09:00 AM | Load in Day 2 06/26/2025 09:00 AM | Load In day 3 06/27/2025 09:00 AM | Load in Day 4 06/28/2025 08:00 AM | Load In day 5 event PO: Shipping Address: Belmond El Encanto 800 Alvarado Pl, Santa Barbara, CA 93103

Salesperson: Romina Manolio

day 06/28/2025 04:30 PM | Event starts 06/28/2025 04:30 PM | Stand by Team 06/29/2025 08:00 AM | Strike 06/30/2025 08:00 AM | Drive to LA

Description		Qtty	Price		Total
Hospitality Roc	oms				
	Fabric treatment in Sage Green with Valance 120' x 10'H (in stock Fabric)	1	\$2,160.00	Т	\$2,160.00
	Barbacks - Arched - Small - Multicolor Painted in Delicate Blush (150 E-1) High Gloss Please Cover the Back Holes 4'W x 8'H	5	\$300.00	Т	\$1,500.00
	Pedestals - Flower Stand W/ Buckets To Be Used With No buckets Painted in Delicate Blush (150E-1) high Gloss	1	\$180.00	Т	\$180.00
	Dining Table - Las Vegas - Colored Top & Base 6'x40" Table to Be painted in Stripes Pink and green (Delicate Blush 150E-1 / Green TBD) 6'W x 40"L x 30"H - Custom Top & Base Color Upon Request	2	\$414.00	Т	\$828.00
6	Club & Lounge Chairs - Beirut - Blush Velvet 30"W x 32"D x 27"H	2	\$330.00	Т	\$660.00
	Accent Tables - Capitola - Metal - Matte Sage	1	\$138.00	Т	\$138.00
		Tota	l Hospitality Roo	ms	\$5,466.00
Ceremony Drap	pe				
	Fabric treatment in White Gauze To Cover Outside patio While Ceremony in Getting install to be open with Pullbacks Before Ceremony start 200' x 10'H	1	\$3,960.00	Т	\$3,960.00
		То	tal Ceremony Dra	ape	\$3,960.00
Cocktail Hour (Option 1				
X	Dining Tables - Cartagena - Rectangular Black Wood 8' For Seating card 8'W x 4'L x 30H, Top Thickness 1.7"	1	\$600.00	Т	\$600.00

Description		Qtty	Price		Total
\overline{X}	Stand Up Tables - Cartagena - Black Wood 36"Diam x 42"H	6	\$330.00	Т	\$1,980.00
X	Small Dining Tables - Cartagena - Black Wood 36"Diam x 42"H	8	\$300.00	T	\$2,400.00
	Bars - Cabo San Lucas - Straight 8' Bar With custom Stripe Front Top TBD 8'W x 39"H	2	\$1,920.00	Т	\$3,840.00
	Garden Daybed - Caserta - Daybed W/ Awning Painted in Black With Covers in Custom Green Stripe 4'x8'	2	\$840.00	T	\$1,680.00
	Coffee Tables - Toronto - Rectangular Painted in Black 36"W x 22"L x 17"H - Frame Color & Top Upon Request	4	\$204.00	T	\$816.00
	Ottomans - Standard Pod Green? 18"RND x 17"H - Cover Color Upon Request	12	\$42.00	T	\$504.00
	Mix and Match Pillows JUST FOR DAY BEDS	16	\$36.00	Т	\$576.00
	Barbacks - Oblong - 8'w - Multicolor Painted in Color TBd with Insert IN same Fabric as the Front of the Bars and Sofas 8'W x 24"D x 10'H - Custom Color and Insert Upon Request	2	\$2,040.00	Т	\$4,080.00
		Total Cocktail Hour Option 1			\$16,476.00
Reception @Lot	tus Pond _ Drapes and Panels				
	Custom Made Fabric treatment in Beige Velvet 2- 50 x 13'H Pleated Fabric with Valance to be left and Right of stage Creating a Nock for bars	1	\$2,400.00	Т	\$2,400.00
	Panels - Hedge Panel 4'x10' 4'X10'H	50	\$192.00	Т	\$9,600.00
	Panels - Hedge Panel 2'x10' 2'W x 10'H	6	\$120.00	Т	\$720.00
	In stock Meadow - Drape to Cover perimeter 18 Panels - 12'x 12'H to Back Flowers Walls With Valance	1	\$4,560.00	T	\$4,560.00
	In Stock Meadow - Drape To Create pullbacks 6- Double Sided Pullbacks 17'x 12'H With Valance	1	\$4,320.00	T	\$4,320.00

	Qtty	Price		Total
Fabric Treatment to Cover Working Space 150 x 12'H - Black to Green in stock to be removed Friday evening or Saturday morning	1	\$3,120.00	T	\$3,120.00
Total Reception @	Lotus Pond	_ Drapes and Pan	els	\$24,720.00
us Pond Ceiling Treatment				
Ceiling Treatment in 2 Shades of Beige 40 Pieces Double sided - 9'x10'H Pleated Double Sided 2 Tones of Beige	1	\$24,192.00	Т	\$24,192.00
Ceiling Treatment in 2 shades of Green 16- Pieces 16'x 5' Pleated Fabric Double Sided	1	\$14,400.00	Т	\$14,400.00
Ceiling Treatment in 2 Shades of Green 8- Pieces of 9'x 5'H pleated Double sided i	1	\$4,200.00	Т	\$4,200.00
Finials TBD	1	\$0.00	Т	\$0.00
Total Reception (@ Lotus Por	nd Ceiling Treatm	ent	\$42,792.00
us Pond				
Bars - Bora Bora - Wood & Rattan 8' Painted in Black with Natural Rattan Insert 8'w x 12"L x 44"H - Custom Frame color & Inserts upon request	2	\$1,080.00	Т	\$2,160.00
Barbacks - Oblong - 8'w - Multicolor Painted in black with Inserts in Rattan 8'W x 24"D x 10'H - Custom Color and Insert Upon Request	2	\$2,040.00	T	\$4,080.00
Panels - Candle Wall Metal No Candles - Painted in Black 5'W x 4"D x 10'H - Custom Color Upon Request	24	\$300.00	Т	\$7,200.00
Kidney Pillows in Natural Linen for booth in natural Linen	16	\$42.00	Т	\$672.00
Banquettes - Pasadena - Ivory Velvet - 8' 8'w x 39"D x 30"H	8	\$480.00	Т	\$3,840.00
Custom made Covers in Green Willow Linen	8	\$360.00	Т	\$2,880.00
	Total Rece	eption @ Lotus Po	ond	\$20,832.00
/ay-				
In stock Blush Velvet to Cover entrance Hallway to After Party with Valannce 200'x 13'H -Pipe and Base + Tiebacks with Sheer Swags	1	\$6,600.00	Т	\$6,600.00
	Total After Party Hallway-		ay-	\$6,600.00
nce & Path to Outside				
In stock Blush Velvet & Emerald Green To Cover entrance Foyer	1	\$2,640.00	Т	\$2,640.00
	Total Reception @I us Pond Ceiling Treatment Ceiling Treatment in 2 Shades of Beige 40 Pieces Double sided - 9x10'H Pleated Double Sided 2 Tones of Beige Ceiling Treatment in 2 shades of Green 16- Pieces 16'x 5' Pleated Fabric Double Sided Ceiling Treatment in 2 Shades of Green 8- Pieces of 9'x 5'H pleated Double sided i Finials TBD Total Reception (us Pond Bars - Bora Bora - Wood & Rattan 8' Painted in Black with Natural Rattan Insert 8'w x 12"L x 44"H - Custom Frame color & Inserts upon request Barbacks - Oblong - 8'w - Multicolor Painted in black with Inserts in Rattan 8'W x 24"D x 10"H - Custom Color and Insert Upon Request Panels - Candle Wall Metal No Candles - Painted in Black 5'W x 4"D x 10"H - Custom Color Upon Request Kidney Pillows in Natural Linen for booth in natural Linen Banquettes - Pasadena - Ivory Velvet - 8' 8'w x 39"D x 30"H Custom made Covers in Green Willow Linen vay- In stock Blush Velvet to Cover entrance Hallway to After Party with Valannce 200'x 13"H -Pipe and Base + Tiebacks with Sheer Swags	Total Reception @Lotus Pond Barback of Green in stock to be removed Friday evening or Saturday morning Total Reception @Lotus Pond us Pond Ceiling Treatment Ceiling Treatment in 2 Shades of Beige 1 40 Pieces Double sided - 9x10"H Pleated Double Sided 2 Tones of Beige Ceiling Treatment in 2 shades of Green 1 16- Pieces 16'x 5" Pleated Fabric Double Sided Ceiling Treatment in 2 Shades of Green 1 18- Pieces of 9'x 5"H pleated Double sided i Total Reception @ Lotus Pond Total Reception @ Lotus Pond us Pond Bars - Bora Bora - Wood & Rattan 8' 2 Painted in Black with Natural Rattan Insert 8"w x 12"L x 44"H - Custom Frame color & Inserts upon request Barbacks - Oblong - 8"w - Multicolor 2 Painted in black with Inserts in Rattan 8"W x 24"D x 10"H - Custom Color and Insert Upon Request Win x 24"D x 10"H - Custom Color and Insert Upon Request Kidney Pillows in Natural Linen for booth 10 in natural Linen Banquettes - Pasadena - Ivory Velvet - 8' 8 8"w x 39"D x 30"H Custom made Covers in Green Willow Linen 8 Total Receivary In stock Blush Velvet to Cover entrance Hallway to After Party with Valannce 200"x 13"H - Pipe and Base + Tiebacks with Sheer Swags Total Ince & Path to Outside In stock Blush Velvet & Emerald Green To Cover 1	Total Reception @Lotus Pond _ Drapes and Pan Use Pond Ceiling Treatment in 2 Shades of Beige	Fabric Treatment to Cover Working Space 150 x 12H - Black to Green in stock to be removed Friday evening or Saturday morning Total Reception @Lotus Pond _ Drapes and Panels us Pond Ceiling Treatment Ceiling Treatment in 2 Shades of Beige 1 \$24,192.00 T 40 Pieces Double sided - 9×10 H Pleated Double Sided 2 Tones of Beige 2 1 \$1,4,400.00 T 16- Pieces 16'x 5' Pleated Fabric Double Sided 2 Tones of Beige 3 1 \$4,200.00 T 16- Pieces 16'x 5' Pleated Fabric Double Sided 5

Description		Qtty	Price		Total
	Pedestals - Round 24"x 42"h - Multicolor Painted in Stripes Pink and Green (Delicate blush 150E-1 - Green Agate M430-7) 24"Diam x 42"h - Color Change Upon Request	2	\$264.00	Т	\$528.00
	Pedestals - Round 24"x 30"h - Multicolor Painted in Green _ Painted in Pink Delicate blush 150E-1 - Green Agate M430-7) 24" Diam x 30"h - Color Change Upon Request	2	\$240.00	Т	\$480.00
	Pedestals - Round 30"x 38"h - Multicolor One Painted in Pink and one in stripes Green and Pink Delicate blush 150E-1 - Green Agate M430-7) 30" Diam x 38"H - Color Change Upon Request	2	\$264.00	Т	\$528.00
	Total After Pa	rty Entrand	ce & Path to Outs	ide	\$4,176.00
After Party Ballr	room				
	In stock Drape To Cover main Ballroom in Blush Velvet With Some Details in Emerald Green 250'x 12'H in pipe and base	1	\$4,560.00	Т	\$4,560.00
	Custom Swag Balance IN Blush Velvet - To Cover 150'	1	\$3,000.00	Т	\$3,000.00
	Stage Treatment in Silver liquid lame and Millar Drape 45'x 12'H	1	\$1,800.00	Т	\$1,800.00
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6' Banquettes - Pasadena - Straight 6' - Emerald Green velvet 6'W x 39"L x 30"H	6	\$414.00	Т	\$2,484.00
	Custom Made Bolster in Green	6	\$72.00	Т	\$432.00
	Barback - Curved Alcoves W/ Shelves - To have 2 sections on each side- Custom to match Rendering as close as Posible - stripes green and Pink with Vanity Lights on the Top and Insert in Mirror Ball Delicate blush 150E-1 - Green Agate M43 22'W x 18"L x 10'H	2	\$3,600.00	T	\$7,200.00
	Bars - New York - Folding 8' Painted in Mahogany with Front Matching Santa Barbara Fronts 8'W x 30"L x 42"H - Color Change Upon Request	4	\$1,080.00	T	\$4,320.00
	Small Dining Tables - Paris - Bistro Table W/ Marble Top 24"Diam X 29"H	10	\$204.00	T	\$2,040.00
	Stand Up Tables - Tulip Base - Multicolor 32" Diam x 41"H	4	\$360.00	Т	\$1,440.00
		Total After Party Ballroom			\$27,276.00
After Party Outs	ide				
W	Small Dining Tables - London - Dark Wood To be used for Grooms Cake 36â\ \text{\text{\text{N}}}\rm rnd 30â\ \text{\texi}\text{\text{\text{\text{\texi\texi{\text{\texi{\text{\texict{\texi}\texi{\texi{\te	1	\$300.00	Т	\$300.00

Description		Qtty	Price		Total
$\overline{\Psi}$	Stand Up Tables - London - Dark Wood 36â® @rnd x 42â® @H	4	\$330.00	Т	\$1,320.00
	Accent Table - London - Antique Gold Hourglass Table Large 18"Diam x 25.5"H	4	\$132.00	T	\$528.00
	Accent Table - London - Antique Gold Hourglass Small 18"Diam x 18"H	4	\$132.00	T	\$528.00
	Custom Made Ceiling- treatment for 15'x 45' In emerald Green Velvet	1	\$1,920.00	Т	\$1,920.00
	Fabric Treatment to Cover Approximately 45x 15'x 10'H Truss Structure Back Side Down 2 Sides to be Available to open	1	\$1,782.00	Т	\$1,782.00
	Custom Made Truss covers 12'x12"x12" Colora TBD	15	\$144.00	Т	\$2,160.00
	Partially enclose Patio In Emerald Green Velvet 60' x 13"H Straight Drape 5 -Column 10' all the way for a total of extra 50'	1	\$2,160.00	Т	\$2,160.00
	Bars - New York - Folding 6' painted in Mahogany Creating Fronts to match Santa Barbara 6'W x 31"L x 42"H - Color Change Upon Request	2	\$1,056.00	T	\$2,112.00
	Barback - Curved Alcoves W/ Shelves - Painted in Mahogany with Back Insert in Emerald green Drape	1	\$1,800.00	Т	\$1,800.00
Millian III	Sofas - London - Sectional - 3pc Using only Left and Right On side of the bar Middle Sections to be on the Smoke Lounge Left 74"W x 40"L x 31"h Middle 78"W x 40"L x 31"h Right 74"W x 40"L x 31"h - Can be 3pc o 2pc	2	\$780.00	Т	\$1,560.00
	Coffee Tables - Gold Loop 40â® ® Diam 19â® ®h	3	\$300.00	T	\$900.00
	Ottomans - Standard Pod in Emerald green 18"RND x 17"H - Cover Color Upon Request	14	\$42.00	T	\$588.00
	Club & Lounge Chairs - London - Cranleigh Club Chair 31"W x 31"L x 34"H	6	\$276.00	T	\$1,656.00
	Mix and Match Pillows	20	\$36.00	Т	\$720.00
		Total After Party Outside		side	\$20,034.00
Services					
	New Chandeliers West Elm 8 total to go over Straight tables	1	\$2,392.00		\$2,392.00

Description		Qtty	Price	Total
	Perdiem From Tuesday to friday	1	\$380.00	\$380.00
	Hotel Room from Tuesday to Friday	1	\$1,120.00	\$1,120.00
	Hotel From Tuesday to Sunday	1	\$1,680.00	\$1,680.00
	Delivery Drive and install Day 1 Tueday	10	\$650.00	\$6,500.00
	Delivery Drive and install Day 2 Wednesday	12	\$650.00	\$7,800.00
	Delivery Load in Install Day 3 Thursday	12	\$650.00	\$7,800.00
	Delivery Install Day 4 Friday	12	\$650.00	\$7,800.00
	Delivery and Install Event date Day 5 Saturday	12	\$500.00	\$6,000.00
	Stand By Saturday	2	\$350.00	\$700.00
	Strike Cocktail Team	4	\$350.00	\$1,400.00
	Strike Team For Reception and After Party	16	\$650.00	\$10,400.00
	Drive to LA Monday	12	\$350.00	\$4,200.00
	Transportation	6	\$700.00 T	\$4,200.00
	Hotel Rooms From Tuesday to Monday- Hotels will Finalized by time of booking	5	\$1,604.00 T	\$8,020.00
	Hotel Rooms From Wednesday to Monday- Hotels will Be finalized by time of Booking	1	\$1,400.00	\$1,400.00
	Manager on site - pre production & Presentation	1	\$15,000.00	\$15,000.00
	Flame Proofing	1	\$2,500.00	\$2,500.00
	per diems From tuesday to Monday	10	\$665.00	\$6,650.00
	perdiem From wednesday- To Monday	2	\$570.00	\$1,140.00
Please make che	ecks payable to Revelry, Inc.		Total Products:	\$172,332.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total L	abor/Services/Misc:	\$97,082.00
		1	Wear & Tear (4.00%):	\$6,893.28
			Packing (2.00%):	\$3,446.64
Notes	tes		Taxes (tax excempt):	\$0.00
			Discounts:	(\$0.00)
			Total:	\$279,753.92
			Payments:	(\$0.00)
			Balance:	\$279,753.92